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Economic Policy and Rural Development
Paper : BC-11

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one

sentence or maximum up to 30 words. Each

question carries 2 marks.
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HITT | T&H G 2 Hh B

What do you mean by Economic Policy ?

afefer <ifq & et F S T 2
Define Green Revolution.

Bt i< 1 Rt shifse |

Explain Swadeshi Concept.

I I STTURON h1 TIE HITT |

How would you define Liberalization ?

ISR I Y &y qRfea sy ?

Mention the names of two important trading

partner countries of India.

IRA & T TV SAMRE TRGR I % AW
T Jeer iy |
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(vi) What are the names of three tiers of

Panchayati Raj System ?

T T SR & i Wl (Tiers) & &1 M
g2

(vii) What is White Revolution ?

o I T ?

Section-B 4x7=28

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
gus—a
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. Examine the economic advantages and

disadvantages of Swadeshi Concept.
I SAIUROT & omfde @i IR w1 wderm
I |

. Explain the composition of India’s Foreign Trade

in brief.

YR & foeelt MR i GEAT B 9899 § T wieg |

. Discuss the role of Panchayati Raj System in Rural

Development.
Trtor foaeme # veETdt TS See w1 fieh it e
AT |

. Explain the importance of cottage and small scale

industries in Indian Economy.
IRAE oo § HER U@ oY MM % SEr @

Hed HHHART |
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. Write a critical note on Service Sector in India.

ORA H 91 & W UF AeAcHs ool fafe |

. Analyse the main problems of Economy of
Rajasthan.

TSRAM i ATHTITA HT T GHEAS H1 fagersor
I |

. Write a note on World Trade Organization and

Indian Agriculture.

fava =R &MeT (WTO) $iR 9RdE 0 | T
feoqoft fafem)

. Examine the main problems of Public Sector in

India.
aRad H e &9 ki T THEASl ®1 qeqo
HIfT |
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Section—-C 2x14=28
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 14 marks.
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10. Discuss the main problems of Rural Development

in India. What should be done to overcome them ?

aRa ® Ao fasr #t qed wuee &t s
FINT | T8 [ w & faw #=0 fwan s =gy ?

11. What is Demography Dividend ? Is India really
getting it ? If yes, how ?
SHifReRT TNUIRT RN ¥ 7 N aRad H O9RA 39 U
FLW@ R 2 AR B, A HA ?
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12. Throw light on the main problems of agriculture

in India and suggest measures to overcome them.

IR H FY ® G IRl | YHE A iR 5%
[ FE & I AR

13. Write short notes on any two of the following :
(@) Components of Economic Policy
(b) Main problems of Rural Finance
(c) Export Promotion Measures in India
frfafea # @ fe<l & W gfea fewfmt fafaw .
(31) et ffa & o
(&) o faw =t qea aend
(|) 9ra § faf dagq 39
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